Equations

H
| Simplifyin ressions
Sr—3r+4k=(5-3)r+ 4k |
=2r + 4k

Combine like terms.

1. 6r+5r—8p +6p +7(2r—4r) 8. 12p + 5pd - 3p + 6pd

2. 9x—7x + 2x + 8(6X + 2x) | 9. 3(x—5x) + 2(xy + 8x) + (-8xy)
3. 5xy - 12xy + 12xy — 9(x +y) 10. -2a--3(a +7)~-4(-a+b)

4. 2t+12t-4(n + 4n) 11.-4n(x-—y)+3n(x+y)—2

5 -2(g+ Sg) +-4(8f - (-12g)) 12. 3(h - (-k)) + 2(-3h + -4k)

6. 7(2x + 5y) + Xy — 6f3xy + 5x) 13. 8(2x + 2y) - 4(3xy — (-5x))

7._ Sm + 6mn — (-9n) + 2(m-n) 14, 3c. —4Dbc + (-7b) + 3(2bc —b)
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Dlrections' Solve the followmg equations by removing parentheses.

O

1. 5(x+2)=25 7. 2x=7+3(2 - %)
2. 5(x + 3)=6(x—-4) 8 -5(1+x)=8-4x
3. 1b+2)=28 9. 2(4x+11) = -3 + 3x
4. 2x+3)-4=8 4+ 6x 10, -7-(3-2x) =10
5. 4x+3(x+7)=1: . 11. %(11x-60)'-2x=x
6.32+x)=-10+2x 12. 4(x~2) =72
O
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